BEfE x B =

M6 EIABAHE
(BEAI:F)
BB LEFE(A) HIEE (B) iR (A) —(B)
I BEEO
1. RBEE
LTRES 3,091,510 3,472,624 -381,114
AILEF 11,320 0 11,320
BT &h 12,124 12,534 -410
mEEERE 3,114,954 3,485,158 -370,204
2. ExEEE
(DHEKRBE
EHFEE 178,999,500 218,999,500 -40,000,000
A i FE % 50,001,900 10,003,000 39,998,900
EXKUGESF 229,001,400 229,002,500 -1,100
)BTEEE
BRIRESXCILEE 0 0 0
HEERERES 13,000,000 15,000,000 -2,000,000
BEEESF 13,000,000 15,000,000 -2,000,000
BE&EERE 242,001,400 244,002,500 -2,001,100
BEERG 245,116,354 247,487,658 -2,371,304
I BEOH
1. REIBE
RibE 214,198 188,265 25,933
FILEM 15,006 50,941 -35,935
FEY® 33,023 7,650 25,373
REBAa/ast 262,227 246,856 15,371
aEAE 262,227 246,856 15,371
I IERREAE DED
1. $EEIERRELE
AN ERERE 10,000,000 10,000,000 0
i€ 219,001,400 219,002,500 -1,100
FitE(BEEE) 13,000,000 15,000,000 -2,000,000
EEIERMESST 242,001,400 244,002,500 -2,001,100
OLEXRMEADIELEE) (242,001,400) (229,002,500) 12,998,900
OLRHEEEANDFTHE) (13,000,000) (15,000,000) -2,000,000
2. — R IERREBAEE 2,852,727 3,238,302 -385,575
OLERPFEADFTHE) (0) (0) 0
ObLREEEANDITHE) (0) (0) 0
IERBAE R 244,854,127 247,240,802 -2,386,675
BERUVEKRMESST 245,116,354 247,487,658 -2,371,304




